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I "y mwn: the procedure after nn nkmv which interferes with m71 (nkmMY NNYn)
a nrmon3<and 7% day — and 05’20 on 7t day
b  shaving on 7% day and nn13p on 8t day
¢ if he shaved on 8" day:
i y™:bring offerings that day
i v™:should be like y71¥n — needs wnw 29yn after shaving
1 retort: disanalogous:
(a) ymym depends on shaving
(b) 1z depends on conclusion of days
iii  question: did v accept ¥™'s argument?
1 Proof: %50 ruled that if he shaved on day #8, he brings ni17p on day #9 ->didn't accept it
(a) Rejection: perhaps in that case, he didn't perform n%>1v until 8t day either
II  »axand the colleagues of X»win 92 1M1 "
a  colleagues: a 21 Y Oy 911v is like a 11, as seen from v. 1 (can only come with 129p after wnw 17yn)
i rejectcion: same is written in re: 11 (v. 2), even though a nn Xnv may enter 7% ninn (v. 3)
ii  rather: reason he cannot come in is that he is 1793 70INn — as is implied by 2 extra phrases in v. 4 (7793 901N and
DY 912V)
II v mwn: the procedure after proper completion of M1 (7970 NN%n)
a  hebrings 3 animals — nxon (ewe), N5y (lamb), DNV (ram)
i 7 7 he shaves when the nnbw is brought
ii ~ 8":as always, nkon comes first and he shaves at that point — however, shaving on any of them is acceptable
iii  3"2v1: if he brings the animals without designation, each is brought for its sole possible offering (e.g. ram — Dn>v)
b interpretation of Ty YR nna (v. 5) -
i p"n-—refers to mnbw (as per v. 6) — cannot be literal, as that's degrading (to shave in front of the w7pn)
ii w1 —v.7blocks any degrading behavior (and lesson not needed to be inferred from 1)
iii  pnw " —v.5 (.NpP») proves that it must be with the n’n%v, as he only has to take it and burn it, not bring it
elsewhere >must be cut right where the n'm%w is being cooked (not n”x nna)
iv. R" owa 1IN RaR —refers to time parameter — may only shave during hours that n”X is open (daytime)
v M v -1 and not 7', so that young o1n> won't harass her
1 challenge: noyo (v. 8) is degraded publicly
2 answer: she has not finery or makeup, unlike a n7m
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